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GENERAL INSTRUCTIONS / ¥t 5% :

Write yvour Namec, Roll Code, Roll No., Registration No., Date of Exam.,

Sitting, Faculty and Name of the subject on the OMR Answer Sheet in the

space provided. Put your Full Signature on the OMR Answer Sheet in the
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There are 50 Multiple Choice Questions in all,
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All questions arc compulsory. Each question carries 2 marks.
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Four options are given for cach question numbered 110 4. Choose the

correct option and indicate it by blackening the appropriatc circle [ @ ] in
the OMR Answer Sheet given separately. Use only Blue/Black Ball-Point
Pen. The use of Pencil is not allowed.
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5. Belore leaving the examination hall hand over the OMR Answer Sheet to

the invigilator. You are allowed to talke the question paper with you.
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Acthere to the instrections above very cargfully otherunse your

OMI Ansteer Sheet will e invalid and 0 will not be cvaluated.
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| 1\_/’Which of the following forces is not flundamental force in nature ?

(1) Gravitational force (2)  Electromagnetic force

(3) Strong nucler force (4) Tension.

et 9 4 - g st A e a7 @ § 2

(1) T @)
(3)  ¥EA ANYFRT =

2. .~ Light ycar is the unit of
(1) distance (2)

(3} speed . (4)

WY =Y 35 &

A 5l 2)
(38) Tl & (4)

L3

(1) 10° crg (2)
(3) 10 ° erg (4)

587 T S.1. TTEHE TG & AR T8 IEGE @

(1) 107 31 (2)
a3y 107 3 (4)
Mnit of Angular momentum is
(1) N-m (2)
(3) kg.m/s (4)
(1) =g - H
(3) fewrsdt /4 L4

| xm)- 40049

forgag=sE ad

_4y” aTa |

time

intensity of light.

0Hg =1

-

P
PEAHIEETRSEG IR

S.1. unit of work is joule and it is cquivalent to

10° crg
1077

erg

100 37T

"
[

10~7 3

kg.m? /s

kg?.m?/s

oy ez 3

fem2 w2, 4@
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JWhich of the following is not a scalar quantity 4

{1) Temperature (2) Coeffic
) Charge (4) Impulse.
B & & - e Tt @ € 2
(1) IR LS | L/Q)/ o ot
(3) T (4) HET
—
\,,5-/ If ; is a unit vector in the direction of the vector A, then
| 4] i
A —_ | — . B
) “=|A| E (4) n=~a
ufg n wiEw | feon T U uss A@iEw €, @
— R I
(1] ;lil (2] rl=l;a‘
@ n=|A|4 @ n-

-

LV Arca under force-displacement curve represents
(1) vclocily (2) acceleration
(3) impulse (4) work done.

- Toens FE6 5 ZI HRT AT eEEE ARied S ¢

(1y &= - (2) TR

(3 |{= A4y ToRar T wR
\/ Analogue of mass in rotational motion 1s

(1) moment of incrtia (2) torque

(3)  radius of gyration (4) angular momentum.

guft Tife & FEEA F ST ¥
t  STse S (2) o I
(3) o (4) o T o

[ {XT). 40049

ient of friction
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\y Path followed by the projectile is

(1)  Straight linc (2)
(3) Circular (4)
W FRY &9 fear e gl €
(1) T@E T (2)
(@) w4 ()
-\/

\_/]O./ A couple produces

(1)
(2)
(3)
{+)

onlv Iincar motion
only ratational motion
lincar and rotational motion both

no motion.

U dei-F7d 374 adai ©

(1)

e

Tae Ty ()

-

S L .
L T I T (<+)

\y’/\’uluc of gis

(1)
(2}
(:3)
(4)

g =] 11 BiGF

AT

(3)

maximurn itl poles

maximum at cqualo

same everyvwhere

maximumnt al the centre of carth,

-

—_——
=

VAT T S (2)
Teddh @ A ()

th centre of mass of a body

lies always at the geometrical centre

(1)
(2)
(3)
(4)

(XT)- 40049

lics always inside the body

lies always outside the body

may lic within or outside the baody.

xa-mi;conp_.]g' )
Scisnce

Ellipse

Parabolic.

WY |

T'qiqd %G1 W -3ﬁ't1'=h”q

Gl & FH 47 TRy |
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ferelt Rz =1 somm =

(1) e ot S ox Ree @ &
(2) w9 fqug & o< fRuq gar @
(3) wwer fog ¥ ey Rad g v

\}’Kfmiﬁa‘ﬂmmﬁﬂﬁﬁrmﬁl

\_VAccording to Hooke’s law of elasticily, if stress is icrecased, the ratio of

. Strcss to strain

v

(1) decrcases (2) increases
(3)  becomes zero (4} remains constant.

T ] VeARddl ® FEEEaR, g Aade ggd ¥ o aiaad d fEehld 1 3rg4Td

(1) =zar# (2)  TFedn @
. : P .

Newton's sccond law of motion 1s

(1) r=3 | 2y F=mu
(3] F=mp? (4) F=mZuv

(1) Fa%? (2) F=muv
{3} Femp” (4) F=m-<u

).A’Uhich onc of the following is not a conservative force ?
i

(1) Force of friction (2) Magnctic force
(3) Gravitational force 4) Electrostatic force.

frer o € -9 U WS a G § 2

Maﬂ (2) TERE TS

(3) W’qﬂﬁ 4) @Ta@aﬁ |

[0!1140049 __ - - el
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¥

: M perfectly inelastic collision

L JACS

(1) Only momentum is conserved

(2) Momentum and total energy both are conscrved

(3) Momentum and kinetic energy both are conserved

(4} Only Kinetic energy is conserved,

qUi AR H@ug (ZeE) §

(1) e 97 EIT war @

(2) TR UE Tl SN A @k wd &
L}g;;-f”%ié‘.ﬂ 0d A =1 g e e €

(4) e e AT @R Wl & |

X8-PHY-{Comp.|-8

Belenco

\y A crane lifts a mass of 100 kg to a height of 10 m in 20 sec. The power of

the crane is ( Take g = 10 m/s*”)
(1) 100 watt (2) 200 watt

(3) 250 watt (4) 500 watt.

U % 20 $EUZ H 10 Hidl HA6E d@ 100 @ & Ue gormEm @) IS T 1 A

F TR & (g =10 m/is? @iaAT
(1) 100372 _ {2 200 w2

(3} 250 di< (4} S00 g |

perpendicular tots plane is

(1) I= %;‘LIR 2 2 1=MRE

- 3 2 _ D a2
(3) [=73MR (4) =3 MR

Moment of inertia of a circular ring about an axis through its centre and

U gEIg 9o & S 791 3EE @ae & onadd Rl s % aiE: STee Al

grar &
(1) T=4MR? (2) 7=MR?
3 2 _5Syp?2
(3) !=§MR 4) !-2MR
{X1)- 40049
ol
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\L‘-‘.-" S.Lountt of surface tension is

(1 N ! ()
(3) N.m (4)
TS a9 &1 S.]. °rEHE o

,ur-"’/r;;r;_'fi. ticedl (2)

-~

(3) s [ IR P (1)

L
(1) 1000 Kin {-’)
{3} 36000 kmm %)
AETEmIE] SUNR @) Hrd §d R

131 36000 fE :
2] Rotational kineuc energn

3 |
{uJ 5 &Y
wull wiferst FA] d4 A1 8

5" (2}
@) S )

22, _~Unit of cocffictent of vViscosity is
-

T

(1) poise (2)
(3) erg

G IPIIE @] TS G

‘” 'iiﬁ‘l ‘)}
(3 w

e

[ 40095

207 The height of a geostationary satellite in

N

N.m-*'
gz, i rr G

sz, {12

22000 km

o b
Hol) Km

N0 T
. .

¥ L]

N

i - L -

H

y 44
dyne

henry
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23 Bernoulli’s principle is a fundamental principle at fluid dynamics based

r on the law of

(1) Conservation of mass
(2) Conscrvation of momentum
(3) Conscrvation of angular momentum

(4) Conservation of cnergy.

et @ fasrE, T T899 9 ST &< Tiasl 1 U gergd fHaid
g

(1)  Z=FHA GEeqor (2) =T AT

(3y  HIUIT™ T HIaw 4y T da |

24,/ A parlicle moving in a circular path of radius r wilh velocity v. Then

centripetal acceleration of the particle is

(1) vy (2) =
(3) % (-4} %i

UH AU r B9 A6 JAFR U W oo 3 W A FG1 § | T F AEEE w1

\y'rhc ratio of shearing stress to the shearing strain is defined as

(1) Young’s modulus (2)  Bulk modulus

(3) Shear modulus (4) Compressibility.

FTETH Wiaer § HuEus fopld & 9 1 R wq 1 wirfia fear s & 2

(1) = T Segrer oneh () R Yo ol .
{3y~ FuEaw i | (4)  wdreaar | T

l (X1)- 40049 | 9 of 16
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The equation of motion of a simple harmonic motion 18

-

d;}.t 2 d?%x 2
(1) == X 2 E==-w"l
dt? (2) dt 2
') 2
(3) ﬂ—f—= - WX (4) -—d——",i = —tl
de - dtr =

JEEA 3rad 71l &7 Nfa qHieRToT flar &

L 2 2. 2
(1y d f = —w2x (2) .':i_nl:_ = —w=1
- dt = dr =
(3 d °x B . , d“x _ 't
) = e X (4) s = -
dt - dr =~

27. Time period of second pendulum is

(1) 1 second (2) 2 second
(3) 4 sccond {4) 5 scecond.
[ wileren @1 Aladantel widl &
(1) 1 @=0s (2) 2 3=FTE
(3) 4 HETE (+) S U
Eb Out of the following , which is the fastest mode of transfer of heat ?
(1) Conduction (2] Convection
(3) Radiation (<}) Both (1) and (2).

Fr-ifaidd 1 4 HI-H = g1 STl TAET =i 44 6

AT HieiAq (2) HARA
(3)  fafE () (1) TE (2) T

~9~  The zeroth law of thermodynamics leads to the concept of

(1) Internal energy (2) Heat content

(3) Pressure () Temperature.

faet @ v wife fFam A 1 Heheadl WS Bidl & |
- e S (2)  sratafea s

()
(3 &=

(X1)- 40049 10 of 16 |

(4) AT |




XS-PHY-({Comp.}-8
Science

y’ Internal energy of an isolated system

(1) increases (2) decreases

(3) remains same " (9) none of these.

foreifiia Frerme = sisfss oo

(1) =edi g (2) Hedl ¥

7 qE Tl § (@) T W WS

\y In isothermal process

(1) temperature increascs

(2) tempcerature decrcases

(3) temperature neither increases nor decreases

(4) volume remains same.

FIATIE WehHH 1
(1)  a9Er g2qi »

(2) ANHS 9ZA 8

-

\LQ)/?““IWT{ T B gl €, 7 & U2l €

(4) 39 Yo EAT E |

\f’Vg—P for a diatomic gas molcculce 1s
v

32 @ 3
- 7
@ & ~— T

(2)

17 TESEEN It

(4)

[ 40039 - s
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Perfect gas cquation is

(1) PV - if. (2)
(3} PV = RT [+#)
3T T LT T 4
(hy pv ’f (2]
AT PV R )
- Isothermal equation of an ideal gas 1S
(1y %: constant (2)
(3) PV = constant (4)
forlt Tt e AT WHIETOT E §
() &= e (2)

MPV:%WEF (4)

Energy associated with cach degree of frec

(1) 2K,T (2)
(3)  K,T (4)

I.[}'Jf' =

PUo-

VT = constant

v._ constant.
T

vT = [Aadres
%:ﬁuﬁiﬁl

dom per molccule is

1
2

Zcro.

i 37u] WA H TAF iz 4 datad S &l §

(]J "'KL;T (2l

2
(3. Ky

1
2

K,T

18y T

The tcmperaturc which has same numerical value on Celsius and

Fahrenheit scale is

(1) 273° (2)
(3 -40° {4)
wmmm@mmwnﬁmmmﬁmt t

| oan- <

- 273°

4

00

o
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Maycr’s formula for the relation between two principal specific heats
Cp and C,, of a gas is given by

3 Cp-C,=R

(2)

(4)

C

L _-pR

Cc, -

Cy

.- K
P

et 1w =1 g fafere Sesit ¢, wd ¢, & T wE & ferd AR @ @ e

™ -
Cp
( C,-Cp=R 2) F-=R
v
Cy
(3) Cp-Cy =R (4) C_J':R
\38/!( process is said to be reversible if
(1) the system returns to its original state

(2) the surroundings return to their original states

(3)  both the system as well as the surroundings return to their original

states
(4) ncither system nor surroundings return to their original states.
HIE WFH IGRAVIE &HET 14T & 3G

(1) Fopm@ a7t wrives rawen o @ o1 ST &

(2)  uieEer A WRive sawrei W argd o ST @
\#gy/ﬁﬁu$HMﬁmﬁﬁmﬁ#ﬁamﬁmﬁﬁﬂmmmﬁﬁmmnmaﬁi

@) =t frer o 7 2 uiEy o v sraenedt o v e €

39. Charles’ law 1s

V _
(1) T = constant
=L
(3) V= T
aredd &1 T 8
L/U,]/- %: ﬁﬂﬁf‘ﬁ

3) V=

| (X1}- 40049

L
7

(2)

(4)

(2)

(4)

VT = constant

T =
F = constant.

VT = Fadis

%:ﬁﬁﬁﬁl
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407" SI unit of thermal conductivity is
(1)  Jsm~'K™ @ Js
3 JsT'mTPK (4)
i GTeERaT F1 SI AEE 8

ol
(1) Jsm 'K V(ZJ/JS m~ K
m

. =1 -1 K
(3) JsT'mTK (4) Js
}l./ First law of thermodynamics leads to
(1) conservation of mass
(2) conscrvation of lincar momentum

(3)  conscrvation of energy

(<) conservation of angular momentuml.
et @ g fEn A #
(1) FeR W T () i FeT AT EEk

(4) ot Han e [=7EE

3y Z deern Frd
45" Degree of frecdom for monatomic gas is

( 3 2y S
3 8 (4)y 7
eI T & A A S I ¢l &
(y 3 2) 53
3) 8 @) 7
43 Speed of sound wave in air
(1) is independent of temperature
(2) increases with pressurc
(3) . incrcases with increase in humidity
(4) decrcases with increase in humdity.

(3) s A gfg B AT () o ¥ gfa & o e &)

[ oxny- 40049 14 ofﬂ
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(1)  solid (2)  liquid
(3) gas (4)  vacuum.
wiT a0 fred daay oft s & 2 |
AHT @) &
@) = (a) ol o
:l}/A lransverse wave consists of
(1)  only crests (2)  only troughs
(3) both crests and t(roughs (4) rarcfaction and compression.
Tl sy a1 F wnfoer 2 2
(1) I vig (2)  &HaA T
_kgffﬁﬁqémh#ﬁ @ freE ud adEE
40. A progressive wavce is represented by y=10sin (100 nt - 27x) where x and

y are in metre and ¢ in second. Then maximum velocity of the particle is

(1) 100 = m/s
(3) 400 nm m/s

(2)
(4)

200 = m/s
1000 = m/s

U W T3 &1 y = 10sin (100 xt — 2xx) KR S iwd ST € 98 x Ud y A

s

(1) 100 n m/s
(83) 400 wm/s

€ aul ¢t HUE T € | FH ] 27 AUHaT &m

(2)
(4)

200 T m/s
1000 = m/s

y/Newton’s formula for the velocily of sound in a gas is (p = density of gas,

P = pressurc )

(1) v=y&
3 v=5
fedt fra o
(1) V=J§
@ vep

[ (x1)- 40049

(4)

& a7 % feTU = A BN ¢ (p = I B vwe, P= T )

LB)/":\E

(4)

v=2"
n
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487 At resonance, the amplitude of forced oscillations is
(1) minimum 2) maximum
(3) 2CTO (4) nonc of these.

SIS 97 9ONTEA ITeHl @1 HAH BT 8

(1) = ﬂﬁm

3y A (4) TR @ @rs T
4Q, ‘he speed Voof sound wave in a fluid having bulk modulus B and density
pis
(1) v - i—f (2) Vo= %
(3) Vo= \g (4) vV = \F_!;.

Il7 Tehedl HWEE T THAT WSATEIAT O [ 3 Tl 999 p & a1 3H ngs o e

O WA VORT

Nz @ veg
(3) V= \f—%_ (4) V= ,‘I_i;
y’l‘hc distance between two successive nodes or antinodes is
(1 (2) -j;
3 5 @ 5

3 FAMA gl g1 el @ A S gl Al @

(ny * (2) E}
® 3 s
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